emcor

(507) 287-3535 www.emcorenclosures.com

10 Series Writing Top Installation

ITEM DESCRIPTION
ADAPTER PANEL
MOUNTING BRACKET
SUPPORT BAR

ANGLE

WRITING TOP

10-32 CLIP NUT

10-32 X .50" PAN HD SCREW
10-32 KEPS NUT

10A X .50" PAN HD SCREW
10-32 X .625" PAN HD SCREW

QUANTITIES WILL VARY ACCORDING
TO CONFIGURATION

10-32 CLIP NUT O N Eﬂ
10-32 X 50" PHS @ @

1032 kEPSNUT | ()]
i >/
10A X .50" PHS @ m

/@@60@66600/

7

OO O 006 O OO 0O O

oloele|~N|o|o|s|w|Nv]|=

Al B Ao B sA
00 000 000 O 9

SS%SS%SSS%\

!

STEP 1

r

00 0000000000 OO O Y

[

© 000 0ODODOO OO0 OO O D

sss s

D00 0000000 O0ODO OO O

A

oo od¥oocod¥oeoeeo

10-32 X .625" PHS @ Q

a2 doNa ae allll

00O OOOODOCOO OO O OO O

STEP 2

Page 1 of 2 Drawing No. 946162 Rev. 1




4 Bay

3 Bay
Page 2 of 2

AN
© >
- o
% M T - - - = = — — 7
(o)) WY
. O«
(e} GM
zZ N%
mq mL T - T T T gE===
E 4=
w
$
o
uuuuuu g —_—
|||||| i e ——
"1
c
o
“ |||||| g
©
©
ﬂ e e e
c
—
p T - - - = = — — 7
o feeeTade
] boocoood [f , |
(o)}
c
r 3 e e e
= o
7)) LLl
e T oo o0c000000000000 9 F=——= = ———=
-” S &eov&ocmme@&&neo@no
0
o
-—

900000000000 0002 9
Qoo eoeCeoPRRRCGR G

2 Bay

1 Bay



	ASSEMBLY INSTRUCTIONS
	
	10 Series Writing Top Installation



